5T Bf E —

£ E645)

SHIE1A15BER
B2 ERET Ria(m%E
RHK | pEo |ZI0RE : Bt . (M)
= 2 &1 ’ : )
ﬁj\%_’? *E;:‘E ﬂx'j?)scli;f_TEH FHJ_ ﬂ]:iﬁ IZﬁJ\ z\j j-‘é?_ 0) Fﬁ E ;_VF.F ’Aﬁ{%ﬁfbﬁ
(1)
#MMETEE #HEHER
4t 1,410,000
6-s19 | = rg | BREEE DOCEE | wmn | pomismrimmesE
THEKERIEE TRK 150,000
FERRB (LB
T - ] 5,360,000
6—s20 | EH-EE FE ﬁ"fgggﬁg‘géﬁ% B EANEANERER-TE75
= 540,000
T - ] 2,750,000
6—s21 | oEE | g | POAEEBHEES ) pr | manwmmEm o s
280,000
s - ] 9,850,000
6—S22 EHh-EBE & ?“ngéﬁggéﬁ% BT MATHREAE=ZT B142%F 1435
= 990,000

MR ATEAPILELGLHFHE O, MEAEMSNIBENHYET

X/\

ERAEDEMIIMEEE RS,




